155 {TE < DM

KABZEANGBERZERODOHER
0 --SREH
35,000

34,500

34,000
33,463

33.245 33.307
33,500 ./.\.\3::9:
33,000 33,329 32,766
:z,‘goo\./
32,500

32,607

32,000

31,500

31,000

30,500

30,000 : : : : : : : : :
H22 H23 H24 H25 H26 H27 H28 H29 H30 R1

KOBRZZDRE ERBEFHRDSIESTIITEY., FR28FENCEFEDHEIILERSN TS,

_89_



1 FIRAITEAR

SRN24E4AH 1 H BAE

(HAL: A)
T’ & W N 5 L8 proJB & W N & %
W i 40| 28 12|18 &% ¥ 371 29 8
s 14 7 7| |ES TR 12 8 4
R 5 3 A E N 13 12 1
B3 S5 78 B AR 4 4 0| |EEEEfEER 12 9 3
fHH s AT N 5 4 1| B FAKRESS 25 19 6
U S 12 10 2| | F/KIERR 11 7 4
Br RO 34| 22 12| |KGERR 14 12 2
R R 15 12 3= B OF 6 3 3
FEHIVBA R 4 2 21 EZEBES 36 26 10
] % A2 it e 5 3 2| |HERER 15 13 2
YN 10 5 5 TSR 4 1 3
B 31 22 9| |FEEBER 8 7 1
W BGR 10 6 4 AR R 6 3 3
GIRE TS 19 14 5| |t REy 2 — 3 2 1
A= 2 2 OB )R 5 5 0
T R TR 61 24| 3T|[EEFHEESFHE 3 3 0
AR AR 6 4 2|REZBSFER 5 4 1
DEEVE S 13 3 10|EAEZEFER 3 1 2
[ RA AR 11 3 8| B 269 63| 206
B S5 Ao A R 5 4 1 =5 24 20 4
i & — 5 4 1 RN ) 39 20 19
i R HE R 16 2 14 H IRy 5 3 2
HRAR—Y 5 4 1| |BE#R 182 9| 173
G (I 371 20 17| | FHRE R 11 7 4
A TE AR 12 10 2 R E R 8 4 4
SR aERR 12 5 T B 110[ 108 2
o kR 5 2 3 THBAER 24 22 2
TH CXRER 8 3 5| |[HBE 86| 86 0
® b 33 27 6 & &t 735 404 331
J 14 13 1 ERF RSk
VN SIS 4 3 1
FE SRR 15 11 4

KEFHIOF ZRE . 72 A 2EFOBENRE 23T,

,90,




2 {TEGEEHEE

= iR i} 17 & #A i -4 i
[$f2%4 A1 88R%E]
. ECESP
e 5 =@ X BERE ,
Lisemk swess— [ EFEBE
) . B OE &
w2 g —FI
Chu i (e B R———* B &
e PA-EiET ﬁ:%ﬁ%ﬁ:
25 LEEE .
AT ——— L g m % & W E—MAEET PHAER L
% o a%nggﬁgmﬁ
-8 2 & e o EEXER
- EEFER L XAk
HEH G
—Eﬁﬁﬂﬂﬁﬁﬁ;[:@@gwgﬁ . & B &
& a5 4R wupes- —— 5 g &
FULEYY ;
. /\7'thj’;#%§ L A E OB &
— B % EB__Eiﬁ!fiﬂn? % 5 & [FREBR]
E% ® & [EREEESLEHR] B B &
—ERzRR————{ % % & (a%Za2%HR] 2o
] TR [BEZESER] B OB &
B - EBEER L5 0ty :
. £ & &
CATVIEHRE — mty—ERR
] B OB & (S RALZRFR]
2 — 8 B B BB &
FEEERE ﬁrﬁfﬁ
BB & & 3
R I, % E R
" I % —E R B
_ T B &
T RHBREE # f 5 g [ EMBAR
oo £ E R .
£ —EFRER — %z % & % 5
T T O & ,
-t B 5;4E§a 8 & -% ® B BELE R
g B % 3 B E s B = EBEE
® 8 OE &
] B 2 & mREER
—lilﬁﬁﬁa%ﬁ@ﬁl%gﬁg -~ B B HE
1= n %
| R - ® 2 & g 5 85— Sopen
- EEAEE —  HEERELE YRT LR
| e
L] N N7 S — 1 HRERERE
% — ERRSER
—emgan — GaEag
& B
L SRAKE AR [SRAHFAS - ZRAHEHE]
¢ B R CEalut
B #
/%*E*JL%‘E}EN:%ﬁﬁZ H OB OET R & ¥ W 3%%@%?5@@
& U 78 1 % B R
—ﬂ%@?&%ﬁ%%ﬁgg . b &
| 4= B | E % -3 E: = R
® i IR npf- J:3 5. 2 W %4|:¢~x 5
| = I:"}'—R:Z%Aﬁﬁ . A Wi H
- uﬁ%ﬁ;ﬁﬁ SR s— s o 5 (R
— —{E E
FECKIESD el B _
— 8 % K —EREERE
| c2n g &5 s
— & B B BER L g 1 sm T (EREAEY)
L &
=)
8 F S KERRE— KERER L% 2 &
-1 ET % % % rvi
RN L
BrLER #2808 B F&,ﬂﬁfé)
Gpin
R # B & =
B 4E~g= B & EREER
E F & Ce 5 &
L o = 4|:{"§ B & " L F B &
2 B 81t & B L L sam N ol
) 25 R "
E%E%s%;EE & & L %
& B &
. o u B R B8 &
snEEs —2 % B—( & B & wang —fzem &

,91,



3 KARZEANZEERER

KAE9H 1 ABRAE

(%@:J\)
K B e P R
R 274 32,607 15,844 16,763 A 0.89
Rk 284 33,307 16,270 17,037 2.15
WAL 294 33,012 16,187 16,825 A 0.89
Rk 304 32,888 16,147 16,741 A 0.38
A FITAE 32,766 16,127 16,639 A 0.37

g iERFEEERR

AR R U E R HEAEI D5 X T 10.LD, TRk28HEN BB ORI RSN TG,

4 BERAAAREANZEHREY PR A
# #
= & BT 4 it % | = & AT A4 at 5 28
X X
1 FHEthSEkEr 27— 615 263 352| 23 Kt & fEutt 27— 1,017 484 533
2 FERT K A2 =T R AR 257 113 144| 24 RSB E 2 — 807 381 426
3 BT X 232 = T (HE 2 RN 714 332 382 25 |RHIIX 232 =7 (4 A i 601 293 308
4 BRI INFRARBRE 1,048 515 533| 26 A AL 2 169 81 88
5 ZIRBN w7 ShHER 536 254 282| 27 AN Ht&fEakE 2 — 501 243 258
6 AERENT X 232 =T (SR i AR 376 179 197| 28 A USRS T 258 129 129
7 RSEET T B MR R 845 395 450( 29 HazeE RAHE AT 433 206 2217
FARTHI X a7 iR | 1,448 692 756 30 | HrARHIIK 22T (HE L Hi ik 222 113 109
9 AN E BT 482 230 252 31 ARJFHIK A= T (M % 185 96 89
10 BERTHI X 232 =7 4 FE S it a% 816 410 406 32 4 HiEH 2 RATHE P 330 166 164
11 EFFMXa =72 % [ 1,191 573 618| 33 Bk NHIX 2= T HE SRR 152 77 75
12 =RA&EFT I e — 1,192 960  232| 34 =R @R 2 — 236 110 126
13 ZIRTRERER 7 — 272 135 137 35 dmikHKEEEE DGR 2—| 1,460 663 797
14 =RATEITHF D HR—D 768 379 389| 36 HDOHIH[Xa32=T 452 g% 937 461 476
15 A X a2 =7 445 25 i % 739 362 377\ 37 | ZAN A E A B 1,818 888 930
16 [ = PN IR E 997 465 532| 38 PEAEREMIX32=T (SRR | 1,176 577 599
17 A =Rk aEake 22— 1,711 831 880| 39 TLHMTHIK A a=7 (S 2Rk 529 245 284
18 BRIRHi X332 =7 (2R 2 fi 302 148 154| 40 SEMTHi X 23227 (5 2 ffi % 540, 269 271
19 e =Retm@akte 72— 369 173 196 41 AR/ NFAAR B HE 1,050 512 538
20 MK R2=7 (M| 1,809 845 964| 42 | FALEHIKa=T (A Mk 968 466 502
21 S A X a3 R % 569 287 282| 43 AKMFEFHIXaa= TR HER 888 421 467
22 R HUSEE ST 445 210 235| 44 ALl MK 23a= 7 (R 988 495 493
= it 32,766 16,127 16,639

_92_

Bk TEREHEA R




4864

5 BERENR] (HAZ : N)
- — - - = = - T E (L —
X ) PATHEH H ij; » Eg L %}L?( &;& - 7 4 j( %;5( i B i& %ﬁz B 9;— ( /7;2c 1 5
ERLI9F LA 21 B 33,562 16,3600 17,202 — — — = = — — - = GRUNTEE e
R 194E6 A 1T H 33,096 16,120 16,976 — — — — — — - - — TE#fE M=
=R Fk23E6H5H 32,599 15,869 16,730 - = = = — - — - = GRUNTEE e
Rk 2146 A TH 31,899 15,463 16,436 23,026 11,085 11,941 8,873 4,378 4,495 72.18 71.69  72.65 {THIWE T
SRt 6H2H 32,029 15,702 16,327 22,128 10,731 11,397 9,901 4,971 4,930 69.09 68.34 69.80 {FiiT
ERLI9FE LA 21 H 33,562 16,360 17,202 — — — — — — — - — BAOXE04) MR
SERRK 196 A 1T H 33,096 16,120 16,976| 16,612 8,251 8,361 16,484 7,869 8,615 50.19 51.18 49.25 #HEOXKEGH)
Rk 2043 A9 H 33,247 16,273 16,974 24,191 11,703 12,488 9,056 4,570 4,486  72.76 71.92 73.57 {THIWE T
e Fk236 A5 H 32,599 15869| 16,730 18,127 8942 9185 14472 6,927 7545 5561 56,35 5490 HEOXE(14)
- i k2443 H4H 32,990 16,074 16,916 22,859 11,072 11,787 10,131 5,002 5,129 69.29 68.88  69.68 {T-HIE T
Fk 2843 A6 H 32,234 15,681 16,553| 22,106| 10,701 11,405 10,131} 5,002 5,129 6858 6824 68.90 {EHim T
SFICHE6H2H 32,029 15,702 16,327 22,113 10,723 11,390 9,916/ 4,979 4,937  69.04) 68.29  69.76 FEDXKE(14)
SM2E3HA8H 32,323 15,924 16,399| 19,529 9,592 9,937 12,794 6,332 6,462 60.42 60.24| 60.60 fEHIWT
Rk 1946 A 3 H 33,093 16,111 16,982 17,243 8,546 8,697 15,850 7,565 8,285  52.10 53.04 51.21 {EHIWE T
- k236 A5 H 32,641 15,891 16,750| 18,709 9,225 9484 13,932 6,666 7,266 57.32| 58.05 56.62 {EHiWT
Rk 2146 A TH 32,169 15,599 16,570 23,107 11,138 11,969 9,062 4,461 4,601 71.83 71.40  72.23 LI T
SRMILHF6H2H 32,293 15,825 16,468 22,351 10,852 11,499 9,942 4,973 4969 69.21 6858 69.83 (Rl T
WAL 2344H 10 H 33,053 16,107 16,946 — — — — — — — - — (LT
HARESHA SERL2THEA4H 12 H 32,179 15602| 16,577| 15,815 7,946 7,869 16,364 7,656 8,708 49.15 5093 4747 {EHIm T
ERk31F4HTH 32,349 15,854 16,495 — — — — — — — - — LT R
2 oE X | ERk21F8H30H 33,426 16,294 17,132 23,283 11,584 11,699 10,143 4,710, 5433 69.66/ 71.09 68.29 fittk
IR | ERk214F8H 30 H 33,426 16,294 17,132 23,283 11,584 11,699 10,143 4,710  5,433| 69.66 71.09  68.29 fi#Hx
g X | 24 12H16H 33,288 16,168 17,120) 19,594 9,998 9,596 13,694 6,170 7,524 5886 61.84 56.05 fitHk
o | PEBIMRER | FRR244E12H1 16 H 33,288 16,168 17,120/ 19,593 9,997 9,596 13,695 6,171  7,524| 58.86 61.83 56.05 fi#fK
b B oE X | FERR26F12H 14 H 33,041 16,093 16,948 17,3100 8,952 8,358 15,731 7,141 8590 52.39 5563 49.32 fittk
IR | EAk26FE12H 14 0 33,041 16,093 16,948 17,309 8,951 8,358 15,732 7,142  8,590| 52.39 55.62 49.32 fi##K
B oE X | FERk29F10H 22 H 33,057 16,179 16,878 19,193 9,663 9,530 13,864 6,516  7,348| 5806 59.73| 56.46 fiFfK
IR | FEAk294F10 H 22 A 33,057 16,179 16,878 19,192 9,663 9,529 13,865 6,516  7,349| 58.06 59.73  56.46 fi#fK
g X | ERRI9FETH29H 33,668 16,438 17,2200 19,377 9,915 9,462 14,281 6,523 7,758/ 5757 60.32| 54.95 fEHET
IR | ERR19FTH 29 B 33,658 16,438 17,220 19,378 9,915 9,463 14,280 6,523 7,757 57.57 60.32  54.95 L T
=g X | ERR2FTHILILA 33,465 16,325/ 17,140/ 20,102| 10,150 9,952 13,363 6,175/ 7,188| 60.07 62.17| 58.06| fEHE T
P— IR | ERk22FETH LA 33,465 16,325 17,140/ 20,102 10,150 9,952 13,363 6,175  7,188| 60.07 62.17 58.06 ﬁ,ﬁ;ﬁlﬁT
g X | ERR25FETH2LH 33,605 16,411 17,194, 18,754| 9,462 9,292 14,851 6,949  7,902| 55.81 57.66 54.04 fEHIET
IR | ERk25FETH 21 A 33,605 16,411 17,194 18,754 9,462 9,292 14,851 6,949  7,902| 55.81 57.66  54.04| fEIE T
g X | ERR28FETHIOH 33,533 16,397| 17,136| 20,095 10,075 10,020 13,438 6,322 7,116 5993 6144 5847 {LHim T
IR | ERk284FETH 10 A 33,533 16,397 17,136| 20,096 10,075 10,021 13,437 6,322 7,115 59.93 61.44  58.48 {1
FEL TR T RERS




6 ME=BEIRR G2 1)
X g WRR2TAR VR 284F WRK294F R 304F A RNITAE
HEEFREL (7)) 4 5 4 4 5
2B % (H) 43 45 44 44 48
A% (H) 16 17 16 13 14
HE | & B " 43 26 36 42
et T H 32 33 40 29 30
R oM 31 28 37 18 27
g BAE - 1 2 - -
e s - - - - -

2y e
AR %@ﬂﬁ 2 8 — 8 _
Z O 18 20 25 24 28
JRZE AT 92 94 85 105 81
& 1E 7] ik - - - - -
G 5w - - - - -
ERN=R 4 5 5 4
" = 9 9 9 9
&K R 13 19 18 17 17
" PR T 7 6 12 9 12
i B w - - - - -
—HRERIR - - - - -
ES BN 1 - - - -
iFoW - - - -
Z DA, 1 - - -
GE: e sm%R
7 EESEHERR (7 F )
< N WRR2TAR WAk 284F WRK294F WA 304F SR
7 PRS0 BIMEA% Mk BIMmA% ) Mk BIMmA% . Mk BImA% . B
maEEEES 13 18 12 16 12 14 9 12 11 18
i s L 2 4 8 2 3 3 5 3
gﬁ% PE TRy 3 9 9 3 7 3 5 3
R’ £ 2 4 9 4 4 4 9 2
Ho o 3
(S51.3.31~) 3 5 4 5 3 3 4 4 5 6
=R ERE D Hi
SETEEAY
(H26.6.19~ 2 3 1 2
H28.2.18)
REBI | A e et o
FES|  (H28.3.23~ 2 2 3 8 1 2
H30.3.15)
B - BT
% 2 3 3 3
(H30.3.15~)
AU
(H28.12.14~ 13 18 10 16 7 13
R2.2.20)
B H 25 43 29 51 40 57 36 56 34 57
grl: e wER

,94,




8 EBR=%

" K (lﬂTﬁﬁﬁlJﬁ’rEﬁuﬂé)

4 B i A H B = 4 H H
/I JII Ko o— BB G 224/ 5 A 17 H it 304 5 A 16 H
& R N BAYG 304 5 H 17 A Bfn 24 5 H 23 H
AN S G A Wi 24 9A 6H Bf 64 9H 6H
K i Ef 64 9 H 13 H EFn 204 2 H 14 H
AN SRS G A B0 204 2 A 15 H BEFfn 21 4 11 A 14 H
T~ H H oA BB WEFn 224 4 H 5 H HFn 234 2 H 10 A
AN SRS ] 1k WP 234 4 A 5 H Pfn 30 4% 3 H 15 H
K i WEFnT 304 5 H 1 H BEFfn 344 4 A 30 H
AN S ] 3 WP 344 5 A 1H Pfn 534 7 H 31 H
AN ¥ * & 53 4 9 H 17 H HFn 61 4 12 A 15 A
i) 7N i S5 B 624 2 A 1H PRk 194 5 H 1 H
il i — 1E Rk 194 6 H 17 H S o4 6 H 16 H
ARt B A SF ot 6 H 17 H BT
By % (M5 BIBEOSIEICEY, FRkI9FE4A LH O BEITTE SRS, )
K 4 B i A H B = ¢ H H
K = = R BB 304 5 A 17 H G 344 5 H 16 H
- t FII AR IR AR i 344 6 A 3H it 374 8 A 9 H
it Rl i BHYE 37 4 10 4 6 H G 394 3 H 26 H
- t %ME/&EB BitG 394 4 H 1H Bfn 134 9 A 23 H
i) =l et = B 154 6 H 16 H BEFn 17 4F 12 A 20 H
=y H i EFn 18 4% 2 H 20 H WEfn 184 9 H 7H
™ H H oA BB EFn 19 4£ 10 A 20 H HFn 204 3 H 23 H
i) Z Jt Efn 20 4% 5 H 15 H EFn 21 4 11 H 14 H
{H 15 BEFn 21 4 11 A 15 H BEfn 224 4 H 5 H
it il gsl 53 WF 22 4 5 A 23 H WBfn 234 4 A 5 H
AN < 1E BEFn 23 4 4 H 15 H EFn 30 42 4 H 15 H
= e " it iEFn 25 4 6 H 30 H WBfn 28 42 3 A 31 H
AN E 4 1E Bf 30 £ 6 H 27 H Mfn 344 6 A 26 H
x RE )] Efn 354 8 H 3 H WEfn 434 8 H 2 H
i N HOK A BAFn 43 4 12 A 20 H BEFn 534 9 H 7H
= il ot It Fn 53 4= 12 A 25 H WAk 2412 H 14 H
& H i Y Rk 24 12 H 15 H SR 6 4E 12 H 14 H
& ] pE 1 Rk 748 2 A 21 H Rk 154 2 A 20 H
= H Fos T FRk 154 2 A4 21 H PRk 204 1 A 31 H
x % fn Al VR 20 2 A 25 H Rk 234 3 H 30 H
K % il Hil VR 234 7 H 11 H Rk 24 45 10 A 31 H
S ] o — BB Rk 24 4 12 H 13 H Bl AT
U ABE ()7 BIRIEDOSIEIZED, FRk1994H 1 H 0 BEEIESILD, )
K 4 . i A H B = ¢ H H
Al P ® OB Bid 304 44 1H VG 444 2 H 29 H
- 1 & J&k iR 444 3 H 8 H BBfn 104 2 A 28 H
= I )| BEFD 11 4 4 H 19 A BEFn 15 4F 3)%315
5 il 59 It Bfn 154 5 H 8 H WEFn 174 2 H 17 H
AN E 4 1E B 174 7 H 10 H ffn 30 6 A 26 H
1] il =y it iEFfn 30 4= 6 H 27 H B0 424 6 A 26 H
AN ¥ * AN 43 4 2 H 22 H EFn 45 4 10 A 29 H
= liil ot It WEFfn 46 42 6 H 18 H MEFn 53 4 12 H 24 H
R 5 HE iEFn 55 4 2 H 28 H YRk 134 6 H 30 H
= ] Ak VR 134 7 H 1 H Rk 194 3 H 31 H

,95,




9. BERER-FIER

o Kk
K % s o 4 A H B E A

N R Ee = WEF 22 £ 5 H 3 H HF 24 £ 5 A H
% Hi i 1, HAFn 24 £ 5 J] 27 H HF 26 4 7 A H
55 5 e Jik W 26 4= 7 H 27 H W1 27 45 2 A H
UN {78 R A WEAFn 27 £ 3 J] 22 H HFn 28 42 5 A H
) H 15/ fEfn 28 4 5 J 27 H BEF 31 4 3 A H
H iy X — HEFn 31 £ 3 1 22 H HFn 35 4 3 A H
I ZN iE iFfn 35 4 3 H 28 H Ef1 39 /£ 3 H H
S F B oz i HEFn 39 £ 3 J] 30 H WEF 47 4 3 H H
B i J BFn 47 £ 3 H 29 H B 51 4 3 A H
5 % i ES fEFn 51 4 3 3 31 H EFn 55 4 3 A H
K k¥ K K B W 55 4 3 H 29 H W 59 £ 3 A E
[if) Ff K i iEfn 59 4£ 3 ] 23 H i 63 4 3 A H
i i = - fEfn 63 4 3 J 24 H PRk 24 3 A H
JH i N % YR 24 3 A 24 H TE 44 3 A H
iy i & TRk 44 3 H 24 H TRk 64 3 A H
tE iy # 1 YR 64 3 A 24 H TR 8 4 3 A H
P AV 175 FRE 84 3 H 26 H R 12 4 3 A H
A = i Rk 124 3 A 21 H FRE 16 4 3 A H
s = o VR 16 £ 3 H 22 H TRk 20 4F 3 A H
5 % ot — PRk 20 3 A 21 H Rk 24 4 3 A H
i 17} 5t i VR 24 £ 3 H 21 H Tk 26 4F 3 A H
AN OB G VR 26 4 3 13 H Tk 28 4 3 A H
N 1E B Rk 28 £ 3 H 23 H TRk 314 1 A H
i S 5t 1 R 31 4 1 8 31 H af 24 3 A H
AN = aM 24 3 H 25 H o

,96,




Bl

K % s = & A B BT 4 A B
= T B ® BB HF 22 4 5 A 22 H EF 234 3 H 19 H
% Hi i 1, HAFn 23 £ 4 J] 15 H HEFn 24 £ 2 A 26 H
15 5 Fis Jisk WD 24 4 5 A 27 H W1 26 4 7 H 26 H
UN P & OHE WAFn 26 £ 7 7 27 H WEFn 27 # 3 A 22 H
= ] B w AR HF 27 4 3 A 22 H EF 314 3 H 19 H
i K i MEFn 31 4 3 H 22 H 0 35 4 3 H 19 H
I = EN & HFn 35 4 3 A 28 H I 394 3 H 19 H
Ff B (i il HEFn 39 £ 3 J] 30 H HEFn 43 & 3 A 19 H
= iy i WEF 434 4 A 3 H MaFn 47 4£ 3 H 19 H
5 = E — BB M 47 4 3 H 29 H 0 51 42 3 H 19 H
i = ¥ A igfn 51 4 3 A 31 H HEF 54 42 10 A 5 H
K Ff K K BB EFn 54 /- 11 A 12 H HEFn 55 4 3 A 19 H
[ k¥ K 7 EF 55 £ 3 H 29 H HFn 59 4 3 A 19 H
S i T2 % Ef 59 4 3 A 23 H B@F 634 3 A 19 H
1] ZN [EN/ -1 WFn 63 45 3 H 24 A TRk 24 3 A 24 H
L2 # 1 YRE 24 3 A 24 H YRk 44 3 A 19 H
b 2 — M TRk 44 3 H 24 H TRk 64 3 H 24 A
#* = B TRk 64 3 H 24 H TR 84 3 H 19 H
AN b M il FRE 84 3 H 26 H PR 12 4 3 A 19 H
H FH ] UN Rk 124 3 A 21 H TR 14 £ 3 A 14 H
K HH Jf Z VR 14 4 3 7 14 H PR 15 4 4 A 23 H
o % iz e TRk 154 6 H 2 H Rk 16 £ 3 A 19 H
5 5 B - TRk 16 /£ 3 H 22 H PR 20 £ 3 A 19 H
i N G\ — PRk 20 3 A 21 H VR 22 42 3 18 H
N OB = VR 22 £ 3 H 18 H PR 244 3 A 19 H
Y, b i3 Rk 24 3 A 21 H TRk 26 £ 3 A 13 H
iy 5 i Gl VR 26 £ 3 13 H PRk 28 £ 3 A 19 H
K FH & Z Rk 28 £ 3 H 23 H oM 24 3 H 19H

W iy e GIN of 24 3 H 25 H HAE

,97,




10 EEmHR—E

[ D 5 %]

Zd PR (s AT e
=R BET—T H1-—38 53—5111
THBIAER RF-ZRFYE 17— 36 54—4111
[ERYASR/ N7 RFZRTFYEM1164—65 53—2161
ETOKGE T FARIET T H1—52 51—2373
wattamaker 2 — = =TH11-5 51—8770
IREFRRR B2 — T —T H3—10 57—0707
HiReo 27— RF=IRFFIKF101—1016 59—3331
Hbt 2 — RF=ZIRF 251 54—4191
zgf%@gégfkw* KAFEET —TH1-62 52 —-70835
TGRS — RF-=ZIRFRES3—1 54—2131
JEPEWIN T HERR RF-=ZIRFRES3—1 54—2131
e SERTEE HL =l —TH8—15 53—2049
i R — R VEE B KET=THI1 57—1516
LN (i BREHS FIT) RF- = IRFWARE3118—2 54—4304
KEE; RF=ZRF LEHS51—1 54—2216
SRFVRBLA—FBNR $EH—TH7—7 51—4431

[t 1B EER ]

Zd PR s AT A
=B
AINASE CS =5 BET=TH1-5 53—2407
GNEREES ] FARET — T H21—9 53—3594
SRASRET =WT—T H2—21 53—4544
L RIR B EHHE—-THT—16 53—7000
SR RIE_TH5—2 54—3022

,98,




4 P (3 5} AL

[FREZ LB
OB KET—T H8—36 53—2908
F VT4 — 5 _IREE WHT—T H9—21 53—4062
[ =R ZEH [ i =R _-TH7—7 53—2279
= RIRE T RFZRFHO6—12 54—2880
FXVT 14— —RE R ANJIE - TH101—1005 59—-3040
AR E [ ] =N T HI3—2 57—2228
=IRE— S HER EIH T H12—19 53—6747
BBOREBH KEE—TH12—366 54—3140
FHERBR FEHAHE—TH124—2 53—2874
SDHEEDRK FlEIARILI80—2 53—2515
=JNBRERHE =JIIH=TH145—105 54—3813
B R A e T H145—478 54—3784
AR [ W =T H43—7 54—2648
[F TN IR B iR

[ONFUL Nl N RF=ZRFHA164—291 58—7782
[ Ve Ef]
ORI EEH— HETP T H31—983 53—4771
e AR KT ZIRFERE1084— 288 59—2457
(B STAAVEN- ¥ T T H58—224 54—4712
NN G FAJFET— T H31—3642 53—9611
] =R B A ] =IR=TH1—2 52—3187
HHEARE R Z— RFEREHE T HMA152—465 53—-5056
SR EAR RF-ZIRFERIZ—7 54—2230
NG e RET=TH5—7 51—1220
BRELIRERE X — EIT=TH11-5 51—8774
[ZDth]
25 VEE A HIGEDY T H 298 —682 59—3005
O FEDYILIERE fEFEMT LT H31—3658 53—2789
Hi 7 C AT A — E%EJ; A e ) 53-1176
i@%ﬁ%ﬁfﬁ%ﬁ‘/&~ KB T HI2—19 53_7779
WY A —2 (ZPEE—ShHERE )
WBNFF— A RHA—T H154-71 53-7941

(WNHWENHEREIN)

,99,




[ZD] P.9ImBDFEX

PP TR AR @QE@T/Q%Ww pl—445s
R oy zezpy 514434
DA @QE@T/Q%Ww plr44sd
%ﬁ)\éﬁ%ﬁé %g% KFZRFARE116—2945 59—3388
TROFTHEE RF = RFWARF~116—2960 59—3388
NWENWET A H— FEIT=TH11-5 51—8775
=07 RoIEE RFZIRFFIR101—1552 59—2600
=R EAE S =T =TH11-5 53—3422
[#t =3 b fEER]
Za PR £ i EEes
N (R BReAiE) T —T H6—35 53—8711
X - AH BT —T H5—43 53—6040
SFILE R RO AR RF=RFWHARFE116—2955 59—3434
B8 1 BAR B RF=RFMARF~116—2955 59—3670
EOBRAZ D F LB AHIEAN T H298—652 59—2711
Je LR AHUERIY T H 298 —652 59—-30009
ER AR B E 2 — RF-=IRFEIR230—1 51—1255
[t 2FE ]
Za PR £ i EnEes
SN NN BT —T H4—7 53—1218
pIEfE HliT— T H4—20 57—0050
RO G EE RF=RFWHARFE116—2941 59—2221
BN —IR— RFZIRFMARE116—3030 59—2125
ZRA— v 7Y RF-=ZIRFHARF261—4 59—3311
T BE ) L35 B Bk KRF=ZRF FHIR83—56 57—2812
EBHNIRAK T —L RF=RFF 101 —1553 59—3850
HEORTRT —/L KET—TH9 52—9897
TARTY—F FMIL=TH116—5 57—2100
FA L R AN E R RF=ZRFEIR219—18 51—8105
m L7 =23 —h FIL—T H136 51—2091
E AR IAR—Y 2 — FL—TH138—2 51—4466

-100-




FREE]

Za PR £ il e
[ Sh ]
RISk H g T H3—12 53—2312
WHUWSHE R AFHBE_TH154—71 53—7941
NEB L FARET T H21—1 51—1888
[/5]
IR HEIA—TH152—139 53—3901
NSV 5% KET—TH3—-9 53—3903
fit] = PN M =R=TH1-1 53—3902
ZPRUNFR RF-=ZIRFEIRI3—2 54—2502
=B /NFRL e T H145—459 54—2004
N SZINE 5% HHTPU T H2 53—8688
BBEL/NER RF ZRFHERE1084— 33 50—8020
[ F542]
R AEET T H1—34 53—3904
o e RF-=ZIRFERIT—2 54—2702
B =R RF-ZIRTFRERE1084—33 59—3333
LR TR 141—-111 53—2402
i H R KT ZIRTHH 94— 143 52—4080
[& 554K
T AR = RS AR AR — T H1 53—2168
ARV = IR 5 L HEHBE - TH154 53—2880
[ZD D]
= RIBGERE I BAFERL TACHETIU T B 140 —44 53—3690
=IREH B HEAR T T H31—160 53—3158
=R H B L AEEEMT =T H4—37 53—2441

-101-




[E DhEEk]

Za PR £ il EEe
Na—TU—7 =R Bl ="TH1—22 53—4178
WM ZE R Z IR ZE gk s AT KPR FHIRE83—197 53—2461
HACBG% R =R Bt w5 F—T H1-31 53—3116
ﬁ%ﬁﬁ@ﬁmmﬂgi’%ﬁﬁ A=R=TH9—19 ca_ 081
f 2 B Ak = IR RF=IRFH%AMRK125—7 53—4121

[RDAEE]

Za PR £ il B
2 R SV RSUSIAES | sem=R—T 17 53-2498
SIRERE EA—T H1—38 53—3145
A2 HRETIU T H 16 53—5311
= IREEAERT RF=RF/#H19 54—2008
ZIRZER AR IR AT RF-=RFFHRB83—198 53—8642
T AR RS = UM ZE R A RF=R54k 11158 50—7777

-102-




[ZDHDHEER]

Za B * AT EEREiRsy
(—H) =R BIRIREL A FHFAIL68—159 51—1930
() = IR&GEEAF RFEZRFIMAFE116—3101 59—3567
(—) IR AR b FAEHETIY T H140—369 51—2820
(—ft) R8O KEZRFHAFE116—2858  59—2311
=R LR ERT " TH1I-1 53—2175
SRR 2 — RFEZRFHIEFE101—1414 59—3750
PR E ERT—TH8—15 51—1711
(—ft) =R n— AMter2—  TREETIUT H140—369 51—2240
By it 5% Jo) 10 i Wb 75 AR S5 T KET T H31—1975 57—1829
BWHE RER FEMAARIE KT-ZRTIHO16—7 54—2211
=R E W R A =JIIEMM T H145—552 54—2202
= IREAE SR ERT=TH2—15 53—2351
= R ER AT )R AR T H76 53—5800
= YRR T H A5 S5 KET - TH3—14 51—1010
= PRI R WAH—T H2—59 53—5700
= YRR ) KE—TH272—7 54—2929
RIS {5 )5 MR =TH43—10 54—2235
A SE 18 B B E R AHEE " T H295—5 59—3666
HALEE ST =R €T gl — T H5—4 57—0980
WRERRERT ZIRE T —T H2—3 53—2191
R T ARERA TR RT3 AEIT =T H4—3 52—2252
R T ARERAT YR 1 S RKEZRTYIN117—35 52—6121
FHHDSHEATIN = IR i =T H7—26 53—3121
FHHDOLEA TR — IR E =R -TH1—4 57—4481
BB A = RS HReETPO T H11—42 53—4131
H AR E A = IREE ERT T H2—-12 53—4161
HURREIE RN = IR KPR T H AL -7 53—2710
ZIRZEPS —I TV RF-ZRF FZR83—198 53—7500
WU A et = IRER) SERT—T H3—24 53—3031
] BT R = IRER BT —T H31—3789 53—3723
Be T AR A = RGE E FET— T H31—3880 53—3033
7 —V— U I =R BT TH12—-3 53—2495
=Y £ FKET =T H3—15 53—1845
NHK = R#uE = PEET=TH3—1 53—2247

-103-




